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1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q3:  2 Marks
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Contains questions which have been reproduced with the kind
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1. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2004, 4H Q3:  2 Marks

9

*P38579A0924* Turn over

10 This rule can be used to work out the fare, in dirhams, for a taxi journey in Dubai.

 Find a formula for the fare, C dirhams, for a taxi journey of d kilometres.

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 10 is 3 marks)

Multiply the number of 
kilometres travelled by 3

Add 7 to your result

Then divide by 2

Taxi fare in dirhams

2. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2011, 3H Q10:  3 Marks

Questions compiled by:
@Maths4Everyone

Contains questions which have been reproduced with the kind
permission of Pearson Education Limited UK
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Answer ALL TWENTY ONE questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 a = 6     b = 2.84     c = 5

 Work out the value of   
a b
c
−
2

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 2 marks)

2 Solve  5x – 8 = x – 10
 Show clear algebraic working.

x = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 3 marks)

3. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2017, 3HR Q1:  2 Marks
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4. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

June 2009, 4H Q3:  3 Marks

Leave
blank

8

6.

Work out the value of f when u = 5.7 and v = –7.6

f = ....................

7. The amount of petrol a car uses is directly proportional to the distance it travels.
A car uses 3 litres of petrol when it travels 50 km.

(a) Work out the amount of petrol the car uses when it travels 125 km.

..................... litres
(2)

(b) Work out the distance the car travels when it uses 5.7 litres of petrol.

........................ km
(2)

uvf
u v

*N23068A0824*

Q6

(Total 3 marks)

Q7

(Total 4 marks)

5. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2005, 3H Q6:  3 Marks
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Answer ALL TWENTY FIVE questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

1 (a) Work out the value of  4 6
8 1 3 7

.
. .−

  Give your answer as a decimal.
  Write down all the figures on your calculator display.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Write your answer to part (a) correct to 3 significant figures.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(1)

(Total for Question 1 is 3 marks)

2 D = 3e2 + 4e

 Work out the value of D when e = �– 5

D =  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 2 is 2 marks)

6. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

January 2016, 4H Q2:  2 Marks

DJMs CLASSIC IGCSE Extra Questions 
 
 

1. m = –3 
 n = –4 
 

 (a) Work out the value of      3m2 + 5n 
 
 
 
 
 
 

   ............................................  
(2) 

There are 4 batteries in a small pack of batteries. 
There are 12 batteries in a large pack of batteries. 

 

Lottie buys x small packs of batteries and y large packs of batteries. 
She buys a total of T batteries. 

 

 (b) Write down a formula for T in terms of x and y. 
 
 
 
 
 
 

   ............................................  
(2) 

 
 
  

7. [4 marks]

Note that these questions are sorted in date order (most recent questions first).

Nov by Maths4Everyone.com, Extra Q2:  4 Marks
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8. [6 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q4:  6 Marks
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7 M = 3x2 – nx

 (a) Work out the value of M when

  x = –2 and n = 5

M = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) Work out the value of n when

  M = 12 and x = 4

n = .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 7 is 5 marks)

Do NOT write in this space.

9. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2013, 3HR Q7:  5 Marks
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10. [2 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2006, 4H Q8:  2 Marks
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2     A = 2x2 + kx

 (a) x!"!#$!! 
k = 4

  Work out the value of A.

A = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(2)

 (b) A = 38   
x = 4

  Work out the value of k.

k = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

(3)

(Total for Question 2 is 5 marks)

Do NOT write in this space.

11. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2012, 3H Q2:  5 Marks

3
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Answer ALL TWENTY ONE questions.

Write your answers in the spaces provided.

You must write down all stages in your working.

1 f = 5p – 4v

 Work out the value of p when f� �í���DQG�v� �í�

p = .. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 1 is 3 marks)

2 Here is part of a timetable for the Paris to Montpellier express train service.

Paris 06 07 10 07 ����� 18 07 �����

Valence 08 �� ����� ����� ����� �����

Nimes 09 09 13 05 15 05 ����� �����

Montpellier 09 37 13 34 15 34 ����� �����

� 7KH�DYHUDJH�VSHHG�RI�WKH�������WUDLQ�IURP�3DULV�LV�����NP�K�

� :RUN�RXW�WKH�GLVWDQFH�WKLV�WUDLQ�WUDYHOV�IURP�3DULV�WR�0RQWSHOOLHU�

. . . . . . . . . . . . . . . . . . . . . . . . . . . .  km

(Total for Question 2 is 3 marks)

Do NOT write in this space.

12. [3 marks]

Note that these questions are sorted in date order (most recent questions first).

May 2014, 4HR Q1:  3 Marks



Leave
blank

9

8. This rule can be used to work out the number of litres of paint needed to cover the walls
of a room, using the length, width and height, in metres, of the room.

A room has length L metres, width W metres and height H metres.
N litres of paint are needed to cover the walls of the room.

(a) Find a formula for N in terms of L, W and H.

..........................
(3)

The perimeter of the room is P metres.

(b) Find a formula for N in terms of P and H.

..........................
(2)

Turn over*N23068A0924*

Q8

(Total 5 marks)

Add the length and the width

Multiply your result by the height

Then divide by 6

Number of litres needed

13. [5 marks]

Note that these questions are sorted in date order (most recent questions first).

November 2005, 3H Q8:  5 Marks



4.  Q =  4g2 – 3h 
 
(a) Work out the value of Q when 
 
 g = –3 and h = 3 
 
 

 

 

  Q =  .......................................  
(2) 

 
(b) Work out the value of h when 
 
 Q = 22 and g = 5 
 
 

 

 

 

 

  h =  ........................................  
(3) 

 
(c) Make g the subject of the formula Q =  4g2 – 3h 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

  g =  ........................................  
(3) 

  

14. [8 marks]

Note that these questions are sorted in date order (most recent questions first).

September by Maths4Everyone.com, Extra Q16:  8 Marks


